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1
 

C
o

m
p

lete th
e sen

ten
ces.

Fo
r every

 3 sh
eep

 th
ere a

re 
 co

w
s.

Fo
r every

 2 co
w

s th
ere is 

 sh
eep

. 

2
 

C
ircle g

ro
u

p
s to

 m
a

tch
 th

e sta
tem

en
ts.

a
) For every 1 football there are 3 tennis balls.

b
) For every 2 cars there are 5 bicycles.
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H
ere a

re so
m

e sh
a

p
es.

C
o

m
p

lete th
e sen

ten
ces.

Fo
r every

 6 sq
u

a
res th

ere a
re 

 circles.

Fo
r every

 6 sq
u

a
res th

ere a
re 

 tria
n

g
les.

Fo
r every

 1 sq
u

a
re th

ere is 
 a

 circle.
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a
)  M

a
ke a

 to
w

er o
f cu

b
es th

a
t h

a
s 3 g

reen
 cu

b
es fo

r every
  

 
1 red

 cu
b

e.

b
) C

o
m

p
a

re y
o

u
r to

w
er to

 a
 p

a
rtn

er’s to
w

er.

 
 

W
h

a
t is th

e sa
m

e a
n

d
 w

h
a

t is d
ifferen

t a
b

o
u

t y
o

u
r to

w
er? 
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Fo
r every

 2 p
en

cils th
ere a

re 3 ru
lers.

 
D

ra
w

 a
 p

ictu
re to

 sh
o

w
 th

is.

 

©
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h
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o
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a
th

s 2019



6
 

W
rite th

ree d
ifferen

t ‘Fo
r every

 …
’ sen

ten
ces fo

r th
e cu

b
es.

7
 

Ted
d

y
 h

a
s 6 lo

llip
o

p
s a

n
d

 9 co
o

kies.

 a
) W

h
a

t m
ista

ke h
a

s A
n

n
ie m

a
d

e?

b
) W

rite a
 sen

ten
ce to

 m
a

tch
 th

e p
ictu

re.
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h
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Filip
 h

a
s so

m
e fi

sh
. 

 
Fo

r every
 3 red

 fi
sh

 h
e h

a
s 1 g

o
ld

fi
sh

.

 
To

m
m

y
 co

u
n

ts a
t lea

st 20 fi
sh

 in
 th

e ta
n

k.

 
D

ra
w

 th
e fi

sh
 in

 th
e ta

n
k. 

9
 

In
 C

la
ss 6, fo

r every
 2 g

irls th
ere is 1 b

o
y

. 

 
Th

ere a
re 12 g

irls in
 th

e cla
ss.

 
H

o
w

 m
a

n
y

 b
o

y
s a

re in
 th

e cla
ss?  

Y
o

u
 ca

n
 d

ra
w

 th
e ch

ild
ren

 to
 h

elp
 y

o
u

.

 

 

For every 3 lollipops 
there are 2 cookies.

I don’t agree.

A
n

n
ie

Ted
d

y


